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1AL EMEREE HSTYXIE| FK E—ER 7,760,000 5
Q0EREHEBERIE il 83X 7,730,000( 2
AR EHERIE =H MK 7,750,000( 3
4| X ERE R #I E7 7,790,000{ 9
5| =B B E 7,720,000 1 & HL
AT ERIEH AR R BF— 7,770,000 7
1M EHIKEER E) ESR 7,760,000( 5
gl HAEFBHEMA S HF BiE 7,750,000{ 3
| AR EHEMKE R - 7,790,000f 9
10|HHREEKARH =H §— 7,770,000 7

(A%L£ZE 7,720,000 F x 1.1 = 8,492,000 H % 4L£%8)
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| EREEHA=H mA BE 3,440,000 2
QA RFEEMAEH THK #=F 3,450,000 3
IZHIREMEFREH SH OEH 3,460,000 5
4| =1t)1138 N3 pEsE 3,462,000 7
5| AR =B IHEE Bl &X 3,462,000| 7
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(AAL£%8 3,047,040 0 x 1.1 = 3,351,744 [ %4 2£%8)
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flRFEEHRAEH THK #=F 22,950,000| 6
5| EREHEILESE (UESIN:IPS 22,790,000 2
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I K=t LEER E% B— 22,700,000| 1 & HL
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(A%L£%F 22,700,000 F x 1.1 = 24,970,000 [ %f.£%8)
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6| Xt BmHE B &— 23,560,000( 2
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(A%L£%E 6,836,000  x 1.1 = 7,519,600 H % 4L£%8)
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(A%L£%F 13,900,000 F x 1.1 = 15,290,000 [ %f.£%8)
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IEAREHMEHERIE =H MK 35,940,000( 2
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(A%L£%F 35,920,000 F x 1.1 = 39,512,000 [ %f.£%8)
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(A%L£%F 39,350,000 9 x 1.1 = 43,285,000 [ %f.£%8)
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(A*%L£%F 54,800,000 F x 1.1 = 60,280,000 [ %f.£%8)
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4| LHEFRBERRH R X# 30,980,000 4
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(A%L£%F 30,930,000 F x 1.1 = 34,023,000 [ %f.£%8)
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(A%L£%F 29,400,000 F x 1.1 = 32,340,000 [ %f.£%8)
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6|BEEZARE4 B i iR
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(A%L£%F 7,480,000 F x 1.1 = 8,228,000 H %4L£%8)
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31Xt BEAARRFRAIME HIFYEEAM mHE BZ 3,540,000 6
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10|BEEARERHRSH HETYELEF | £F KB 3,580,000 8

(A%L£%E 3,450,000 F x 1.1 = 3,795,000 H % 4L£%8)
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1A IR/ LTINS RBETEHFR | HE = 1,700,000| 3

EI=EaESTN A BhE 1,650,000 1 EAL

31Xt BEAARRFRAIME HIFYEEAM mHE BZ 1,700,000 3

4| BB JENIEREEHEAT i s 1,700,000[ 3

5|4 —T—arHIILasrEREH ZH FZ 1,700,000| 3

6| ARHEBEEEMER ARHE Bt 1,700,000( 3

1| ERSH R EERFTEHA AH FE 1,720,000 9

8| EELTEHA LhHEH thfE SF 1,700,000 3

9| A BEESHEM AR E 1,690,000[ 2

(A%L£%E 1,650,000 F x 1.1 = 1,815,000 H % 4L£%8)
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